1/4” SST. MACHINE BOLT

W/ TWO FLAT WASHER AND NUT ALUM. "H” MULLION
LOCK
CONCEALED HINGE
GUARD /PULL LOCK™ PIN
NSECT SToP ALUMINUM SUB—FRAME
LOCK RELEASE |/

C %/ )
< THDMJ / \mqmmr MAINFRAME
s I
_
_ J\H_ [\_ 7]
. - \
INFILL ALUM Aﬂb%umx_um_u_w._.m_w ﬁ Mm Nm ﬁ ALUM. FACEPLATE
GUARD WIDTH GUARD WIDTH

HARMONY 20 CHURCH RD. - EMIGSVILLE, PA 17318
SECURITY PRODUCTS, INC. 717-767-2779 - FAX - 717-767-2918
ative See website: www.harmonyspi.com

PRODUCT: ~ HP-1050

DESCRIPTION: STANDARD LOCK & HINGE MULLION
DATE: 05/13/09 DWG.BY: SAB
SHEETNO.. 1 OF 1 DWGNO:  1050-MD-1




1/4” SST. MACHINE BOLT
W/ TWO FLAT WASHERS AND NUT

ALUM. "H" MULLION Lock
LocK
GUARD,/PULL LOCK PIN ALUMINUM SUB—FRAME GUARD/PULL

INSECT mqon|/ \Imqmm_. MAINFRAME
LOCK RELEASE
: uﬂL/ v F—F \I_.oo_A RELEASE
AN — — D — = £
LA | = h B
L)

= )\ >
\ 7 ] |— 7 ALUM. FACEPLATE
INFILL | Mm Mm | (LOCKSIDE)

C0l— [

GUARD WIDTH GUARD WIDTH

ARMONY 20 CHURCH RD. - EMIGSVILLE, PA 17318
SECURITY PRODUCTS, INC. 717-767-2779 - FAX - 717-767-2918
nnovative § website: www.harmonyspi.com

PRODUCT: ~ HP-1050

DESCRIPTION: STANDARD LOCK & LOCK MULLION
DATE: 05/13/09 DWG.BY: SAB
SHEETNO. 1 OF 1 DWGNO:  1050-MD-2




1/4" SST. MACHINE BOLT
W/ TWO FLAT WASHERS AND NUT

ALUMINUM SUB-FRAME

"H” MULLION

\‘Oozomb,_um_u HINGE

C

STEEL MAINFRAME /

)

INFILL

A —

Nw /‘/ ALUM. FACEPLATE

GUARD WIDTH

8 _

GUARD WIDTH

HARMONY 20 CHURCH RD. - EMIGSVILLE, PA 17318
SECURITY PRC TS, INC. 717-767-2779 - FAX - 717-767-2918
nrovative Security Solurions website: www.harmonyspi.com

PRODUCT: ~ HP-1050

DESCRIPTION: STANDARD HINGE & HINGE MULLION
DATE: 05/13/09 DWG.BY:  SAB
SHEETNO. 1 OF 1 DWGNO:  1050-MD-3




GUARD HEIGHT

/

S—

4]
L

N

T

i
C aw: N

GUARD HEIGHT

j

-

\

|
oY

i

U

\

\ ALUM. FACEPLATE

\| STEEL MAINFRAME

ALUMINUM SUB-FRAME

N\ 1/4" SST. MACHINE BOLT

W/ TWO FLAT WASHERS AND

\Im._.m_m_u MAINFRAME

NUT

HARM 20 CHURCH RD. - EMIGSVILLE, PA 17318
SECURITY PROD 717-767-2779 - FAX - 717-767-2918
website: www.harmonyspi.com
PRODUCT: HP-1050
DESCRIPTION: STANDARD HORIZONTAL MULLION
DATE: 05/13/09 DWG.BY: SAB
SHEET NO.: 10F1 DWG NO: 1050-MD-4




1/4" SST. MACHINE BOLT

W/ TWO FLAT WASHER AND NUT ALUM. "H” MULLION
LOCK
CONCEALED HINGE
GUARD,/PULL LOCK PIN
NSECT STOP ALUMINUM SUB—FRAME
LOCK RELEASE |/
C ,ﬂ./ )
: . STEEL MAINFRAME
N - /
I — =
==
G == ﬂ
|
ALUM. FACEPLATE 7 7 8 7 7
LIFT LATCH
GUARD WIDTH GUARD WIDTH
HARMONY 20 CHURCH RD. - EMIGSVILLE, PA 17318

SECURITY PRODUCTS, INC. 717-767-2779 - FAX - 717-767-2918
e ; Solutions website: www.harmonyspi.com

PRODUCT:  HP-1050

DESCRIPTION: CAM OPERATED LIFT LATCH

DATE: 05/13/09 DWG.BY:  CAG

SHEET NO.: 10F 1 DWG NO: 1050-MD-5




1/4" SST. MACHINE BOLT
W/ TWO FLAT WASHER AND NUT

PANIC RELEASE

LOCK PIN

~ INSECT STOP |/
MHHH

ALUM. "H” MULLION

CONCEALED HINGE

\\‘>_|C7\__ZC7\_ SUB—-FRAME

_.T”| C ,wm. // )
L1 STEEL MAINFRAME
== /|
—— o
S 5 \
_ - \
INFILL ALUM A_._uubmum“mx_um_n_w.__w_.w ﬁk Nm — Nm Vﬁ ALUM. FACEPLATE
GUARD WIDTH GUARD WIDTH
ISP OVEOINE 20 CHURCHRD. - EMIGSVILLE, PA 17318

SECURITY PRODUCTS, INC. 717-767-2779 - FAX - 717-767-2918
e ; Solutions website: www.harmonyspi.com

PRODUCT: HP-1050
DESCRIPTION: PANIC OPERATED LIFT LATCH

DATE: 05/13/09 DWG.BY: CAG

SHEET NO.: 10F 1 DWG NO: 1050-MD-6




STRUCTURAL CHANNEL (SIZE VARIES)
USE WHEN WINDOW MULLION IS

ALUMINUM SUB-FRAME

INSECT STOP |/
C RWL

WIDER THAN 6"

TH_HM s
— K=
| 1L
5 =
ALUM. FACEPLATE 7 7
(LOCKSIDE) | 25
GUARD WIDTH

CONCEALED HINGE

*VARIESx*

Nﬁ.rm\ 7]

57 //‘/ ALUM. FACEPLATE

3 !
GUARD WIDTH
BNV EOINRd 20 CHURCH RD. - EMIGSVILLE, PA 17318

SECURITY PRODUCTS, INC. 717-767-2779 - FAX - 717-767-2918

website: www.harmonyspi.com

PRODUCT:

HP-1050

DESCRIPTION: 6" OR WIDER WINDOW MULLION

DATE:

05/13/09 DWG.BY:  CAG

SHEET NO.:

10F 1 DWG NO: 1050-MD-7






